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Optionval 2 pip install & E3dliA AX|E & QJSLICE

! pip install git+https://github.com/kyustorm7/option-valuation
2E

optionval.values =M 7IX[HIIE I8t eSS ALttt

from optionval.values import black scholes

black_scholes call_gamma put_gamma
volatility call_vega put_vega
di call_theta put_theta
d2 call_rho put_rho
call_delta put_delta

optionval.trees Binomial Tree B&S X3l A5t A|ZbsHStL|Ct.

from optionval.trees import BinomialAmerican_ tree

BinomialAmerican BinomialEuropean
BinomialAmerican_graph BinomialEuropean_graph
BinomialAmerican_tree BinomialEuropean_tree
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blackscholes(S=50, E=50, T=5/12, r=0.1, sigma=0.4, PutCall=‘C"’)
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volatility(stock sd=0.3, bond sd=0.2, stock weight=0.6,
bond weight=0.4, corr=0.5)
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call delta(s=50, E=50, T=5/12, r=0.1, sigma=0.4)
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call gamma(S=50, E=50, T=5/12, r=0.1, sigma=0.4)
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call vega(S=50, E=50, T=5/12, r=0.1, sigma=0.4)
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call rho(S=50, E=50, T=5/12, r=0.1, sigma=0.4)

|
S A HEIHA
E 4 AL
T SN QR ANX|C| 7|7F (AE) ex) 5 7H&0[HM 5/12
r 22l o[xtg
sigma HESgX|
oy
D2I3 O|XI20|| CHEt E2Mo| DIZEE LIEHHS Z(rho) ZH2 AAHSHTL
:‘;—‘r’ (V: 2838 7H4, . 221 0[XHE)

12
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put_ gamma(S=50, E=50, T=5/12, r=0.1, sigma=0.4)
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put_vega(S=50, E=50, T=5/12, r=0.1, sigma=0.4)
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put_theta(S=50, E=50, T=5/12, r=0.1, sigma=0.4)
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put_rho(S=50, E=50, T=5/12, r=0.1, sigma=0.4)
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BinomialAmerican(n=5, S=50, K=50, r=0.1, v=0.4, t=5/12, PutCall ="P")
BinomialAmerican(n=5, S=50, K=50, r=0.1, v=0.4, t=5/12, PutCall "C")
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BinomialEuropean(n=5, S=50, K=50, r=0.1, v=0.4, t=5/12, PutCall="P")
BinomialEuropean(n=5, S=50, K=50, r=0.1, v=0.4, t=5/12, PutCall="C")
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BinomialAmerican graph(n=5,S=50,K=50,r=0.1,v=0.4,t=5/12,PutCall="C")
BinomialAmerican graph(n=5,S=50,K=50,r=0.1,v=0.4,t=5/12,PutCall="P")
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BinomialAmerican_graph(10, 40, 70, 0.3, 0.7. 5, "C") BinomialAmerican_graph(10, 40, 70, 0.3, 0.7, 5, "P")
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BinomialEuropean graph(n=5,S=50,K=50,r=0.1,v=0.4,t=5/12,PutCall="C")
BinomialEuropean graph(n=5,S=50,K=50,r=0.1,v=0.4,t=5/12,PutCall="P")
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BinomialEuropean_graph(10, 30, 60, 0.3, 0.7, 4, "C") BinomialEuropean_graph(10, 30, 60, 0.3, 0.7, 4, "P")
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BinomialAmerican tree(n=5,5=50,K=50,r=0.1,v=0.4,t=5/12,PutCall="C")

BinomialAmerican tree(n=5,5=50,K=50,r=0.1,v=0.4,t=5/12,PutCall="P")
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BinomialAmerican_tree(7, 50, 50, 0.1, 0.4, 5/12, "P")

Put option price(American) 00

Strike Price = 50
Initial Stock Price = 50
p = 0.506
1-p=0.494
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BinomialEuropean_tree Binomial Tree 2&! 2 European
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BinomialEuropean tree(n=5,5=50,K=50,r=0.1,v=0.4,t=5/12,PutCall="C")

BinomialEuropean tree(n=5,5=50,K=50,r=0.1,v=0.4,t=5/12,PutCall="P")
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Put option price(European)
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Strike Price = 50
Initial Stock Price = 50
p = 0.507
1-p=0.493



